m 7 F E
=
=1

AN
T

N

225
=

:g =
7

it

=2  =n
E 8X

Al

FE BN M CER (LA RS P E R

I

IE IS
1E 3R
84 o
IR &

25

=g

m 7 & 3 H

AN
-



BHEERER EEEE MR ESE(ER AR GEE R LTS

Wes

% # s - BRHE By ¥ B i & & HE
[EREJE L 2,366,656 + 210, 868 2,577,524
EEAGE 2,366, 656
EERE 210, 868
Z DR 2,366,656 x 53.85% ( 35% =+ (1 — 35%) ) 1,274,444
K5 IR 2,577,524 + 1,274,444 3,851,968
—REEEE 3,851,968 x 53.85% ( 35% =+ (1 — 35%) ) — 6,252 2,068, 032
KBS 3,851,968 + 2,068, 032 5,920, 000
E# R 2,504,500 + 25,045 2,529, 545
EEAGE 2,504, 500
EEEE 25,045
T O R 2,504,500 x 53.85% ( 35% =+ (1 — 35%) ) 1,348,673
RHRE 2,529,545 + 1,348, 673 3,878,218
—REERE 3,878,218 x 53.85% (35% + (1 — 35%) ) — 6,638 2,081,782
KBS 3,878,218 + 2,081,782 5,960, 000
AEHEHE 5,920,000 + 5, 960, 000 11, 880, 000
B EET 11,880,000 x 10.00% 1,188,000
FEISE 13,068, 000




BHHIEEARRE AR KB RA BB E BT

% R R - AKSHE Bify % 8 B i & & B =
B[R 2,577,524
EXRTHFEREFDMER 2,577,524
EXEDTEHREREDOEN 2,577,524
REEREAER 2, 366, 656
i phE 63, 000
-1 BhEE 1.00 63, 000 63, 000
=
BRESF 197, 293
1-2 BiAEF 1.00 197, 293 197, 293
=
EROIER CER 548, 161
1-3 EHDOIRER FER 1.00 548, 161 548, 161
=
HEZFDER 656, 204
1-4 HEZFDHER 1.00 656, 204 656, 204
=
RTREOER 619, 348
1-5 BRAREOER 1.00 619, 348 619, 348
=




BHHIEEARRE AR KB RA BB E BT

% R R - AKSHE Bify % 8 B & & B =
TEEHE 262, 500
1-6 155 - W& 1.00 262, 500 262, 500
=
BEY 20, 150
1-7 £BERREER AFARESR 1.00 20, 150 20, 150
=
E#ERE 210, 868
HHEE 165, 665
1-8 MHEF 1.00 165, 665 165, 665
=
REXBE 45,203
1-9 REXEE 1.00 45,203 45, 203
=
BRI 2,529, 545
BHE - R - REEES 2,529, 545
BLHEEREES 2,529, 545
RIEZETMAE 2,529, 545
RIEFRAERER 2,504, 500
2-1 REFRAERER 1.00 2,504, 500 2,504, 500
=
=HERAME 25,045
2-2 EHRARE 1.00 25,045 25, 045
=
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SHREMBENRKERERARREERERES

&5 1-1
2 BhEE 14y
£ [ R - KT B = i £ w =
F{EHRAm GRED
A 0.36 66, 900. 00 24,084
HEm (A)
A 0.36 59, 600. 00 21, 456
HEm (B)
A 0.36 48, 500. 00 17, 460
& Hi 1EZRERN  1.00K 63, 000. 00 63, 000
&5 :1-2
L% RAES 14y
% b R - KT B = i £ H %
F{EHRAm GRED
A 0.80 66, 900. 00 53,520
HER (A)
A 1.33 59, 600. 00 79, 268
HER (B)
A 1.33 48, 500. 00 64, 505
& it 1E%8ERH : 1.00=C 197, 293.00 197, 293
&5 :1-3
& EROIER TERK 14y
% b R - KT B = i £ H %
FEHAR (F%E)
A 0.47 66, 900. 00 31,443
HER (A)
A 4.78 59, 600. 00 284, 888
HER (B)
A 4.78 48, 500. 00 231,830
& it 1E%8ESN : 1.00=C 548, 161. 00 548, 161




K&/ \vr—

SHREMBENRKERERARREERERES

&S 1-4
2% SHEZDOERK 14y
£ [ R - KT B = i € ® w =
F{EHRAm GRED
A 0.76 66, 900. 00 50, 844
HEm (A)
A 5.60 59, 600. 00 333, 760
HEm (B)
A 5.60 48, 500. 00 271, 600
& Hi 1EZRERN  1.00K 656, 204. 00 656, 204
&5 :1-5
& RAEEOER 14y
% b R - KT B = i * % H %
F{EHRAm GRED
A 0.68 66, 900. 00 45,492
HER (A)
A 2.36 59, 600. 00 140, 656
Hiftg
A 12.00 36, 100. 00 433, 200
& B 1E%8ERH : 1.00=C 619, 348. 00 619, 348
&5 :1-6
& 5% - ;e 14y
% b R - KT B = i * % H %
FEHAR (F%E)
A 1.50 66, 900. 00 100, 350
HER (A)
A 1.50 59, 600. 00 89, 400
HER (B)
A 1.50 48, 500. 00 72,750
& it 1E%8ESN : 1.00=C 262, 500. 00 262, 500
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&S . 1-7
2% EBRTREEER AHRRARERER 14y
£ [ B - BIKTE B B =2 B {f € ® W E w =
HEh (C)
A 0.50 40, 300. 00 20,150
& Hi 1EZRERN  1.00K 20, 150. 00 20,150
&5 :1-8
&% MBS X5y
% b R - KT B B = B O{f * % W E H %
MHES
= 1.00 165, 665. 00 165, 665
& Hi 1EZRERN  1.00K 165, 665. 00 165, 665
&5 :1-9
&2 REXEE X5y
% b R - KT B B = B O{f * % W E H %
WREXEE
= 1.00 45, 203. 00 45, 203
& it 1E%8ERH : 1.00=C 45, 203. 00 45, 203
&5 . 2-1
B BIETAERER 1By
% L] R - KT ==Rivi B = B @ € ¥ W E g &
HER (A)
A 4.00 59, 600. 00 238, 400
HER (B)
A 8.00 48, 500. 00 388, 000
HER (C)
A 26.00 40, 300. 00 1,047, 800
Hiftg
A 23.00 36, 100. 00 830, 300
& B 1E%8ESN : 1.00=C 2,504, 500. 00 2,504, 500
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SHREMBENRKERERARREERERES

&5 :2-2
&% EHARE 14y
£ [ R - KT B = B {f € ® w =
EXARE
= 1.00 25, 045. 00 25,045
& &t 1EZRERN  1.00K 25,045.00 25, 045




